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The Midwest, 1820-1865: The Antebellum Era during this time Cleveland is a big city. Cleveland is growling in wealth. Most people in Cleveland put their money in the water district. Therefor when they asked Cleveland to be the next major city they said no because that would of taken money away from their profits. That's why Ohio isn't a big city now because people back in the antebellum era didn't want the railroad in their location. The offer when to the next city which was Chicago that's why Chicago is such a big city now.
